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M 08I ED
HE: 2R OSNE L GERAY SH(MA=X/ES - IS0
22 e 22 23 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o GERs3 & LAYUAME FXNES
100,000& = 88 * 23l 1,600
o M 2332 JIHEH |RXE=>
1,000,000 * 45 « 13l 4,000
o (& =2sgla 55 S Hteg=2A IEHY
5,000& = 1,359m = 13| 6,795
o (42sta2 SHEH FNE*
300,000& = 58 * 23l 3,000
o (H23tal2 StEA S i Faze
2,000,000& = 23| 4,000
o (22 =IANEE RAUE=
3,500,000& = 14 3,500
03 A2 Z Hl 3,000 3,000 0
O &s5Z20 2A /35
3,000,000& = 13l 3,000
202 O4dl 680 680 0
01 = LH 4 Hi 680 680 0
O ZE208 e & B2 HE HAIE &It
85,000& = 2 * 2& » 23 680
206 M= Hl 3,000 4,000 A 1,000
01 M= 4l 3,000 4,000 A1,000
O e2stala =2 AFILHE & HAS T
=4 3,000,000& = 14 3,000
301 LeEBAF 331,404 331,404 0
09 SAEHIX RS 7,404 7,404 0
O st&sZzd 2A I35 izl Adl XN
5,404,000& = 14 5,404
O &2stala nsLAF 23 Al 24
10,0003 = 40 = 32l 1,200
O W& =23stsl2 AFLHS FI ZA 23
Al 24 10,000& = 40H =« 23| 800
12 J|EtE &= 324,000 324,000 0
O W& =23kl 2 ZA =
90,0003 = 40% * 9& » 103 324,000
405 XtatFE SHI 5,000 9,800 24,800
01 HAtH ESFH S 5,000 9,800 A 4,800
O Oi&2ss2 S5T208 R 7Y
5,000,000& = 14 5,000
AZ0HE - OE&IHE - =30 =X KA 3,323,549 3,229,996 93,553
= 1,268,478
J| 528,567
< 359,242
Al 1,167,262
AZNHE & O28tE NJdH 29 400,500 480,380 AT79,880
J| 200,250
< 60,075




M HEIIED
M B 0S¥ 2 (8AY SH(MISK/ER - ISLHY)
Sol: AN - GRS - 92T =X XL CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Al 140,175
307 glz2tol & 400,500 480,380 AT79,880
| 200,250
< 60,075
Al 140,175
05 RIZHRIEt 3 400,500 480,380 AT9,880
O 24203 & U2sHEXNJAMH 29
400,500,000& * 14 400,500
| 200,250
< 60,075
Al 140,175
JIIEHH &8 82 o8 X2 84,840 0 84,840
| 42,420
< 12,726
Al 29,694
307 glz2tol & 84,840 0 84,840
| 42,420
= 12,726
Al 29,694
05 RIZHRIEF 3 84,840 0 84,840
O NSHE a4g M2 X
84,840,000& * 14 84,840
| 42,420
< 12,726
Al 29,694
A28 2 OGRSINEXNAMH 29 (G232 = H 10,000 10,000 0
AEE)
| 5,000
< 1,500
Al 3,500
307 21201 A 10,000 10,000 0
| 5,000
< 1,500
Al 3,500
04 QIZFHALAIR B & 10,000 10,000 0
O UEsEE HAEEY 10,000,000& * 14 10,000
| 5,000
< 1,500
Al 3,500
A20HE L OIS JAHdEH AN SE-Y 27,000 27,000 0
< 8,100
Al 18,900
307 glz2tol & 27,000 27,000 0
< 8,100
Al 18,900
05 RIZHRI & 3 27,000 27,000 0
O 202038 ¢ USSINEXNJAMEH SANSE
=g 27,000,000& * 14 27,000




fA: O
3y =2
2

el

(AS=X/E2 - Ot
- U28Is - A= 5X X (Sl & &)

Ji
He
2
0x

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

H

8,100
Al 18,900

IS - UESIHE - =02 SN HH I 10,000 0 10,000
2

or ¥

401 AIEBIZ S CHYI 10,000 0 10,000

01 A€ dl 10,000 0 10,000

O SENJEH JIsEZ A
10,000,000& * 14 10,000

=LA RNAMS (H - KAJINEXE) 165,620 144,860 20,760
82,810
24,843
57,967

= M W

307 21201 A 165,620 144,860 20,760
82,810
24,843
57,967

= MW

05 BI2t9IEt 165,620 144,860 20,760
O H=ASASFNAAML(F - ATNSXEY)

165,620,0008 * 14 165,620

82,810

24,843
57,967

= HnH

orolEss X& 1,693,810 1,738,205 N 44,395
1,185,668
162,442
355,700

= 0N

307 21201 A 736,896 583,031 153,865
515,828
66,320
154,748

= Hn W

05 QIZt2IE =3 736,896 583,031 153,865
O Otol=sSKNEANY 23
736,896,000 * 14l 736,896

515,828
66,320
154,748

= W

308 AHXIEHHMSO0IE 956,914 1,185,174 A 198,260
669,840
86,122
200,952

= MW

o XA E A 956,914 1,185,174 A 198,260

956,914
669,840

86,122
200,952

Z N W

OlOIS 20l H2ZAHl X (=HIA) 4,050 0 4,050




AN GEIEY
B 82 0SNE L HAA SA(NSSN/2S - HEL0Y)
Chel: A20HE - UR&IHE - 3= =X K& (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
< 1,215
Al 2,835
307 glz2tol & 4,050 0 4,050
< 1,215
Al 2,835
05 RIZHRIEt 3 4,050 0 4,050
O otols=20l 22A&H X
4,050,000& * 14 4,050
< 1,215
Al 2,835
Ss=0UsH X - 29 82,270 106,914 N 24,644
J| 41,135
< 12,340
Al 28,795
307 glz2+ol & 82,270 26,914 55,356
Jl| 41,135
< 12,340
Al 28,795
05 RIZHRI &3 82,270 26,914 55,356
O Z2Ss0tUsH 2% Ex32 X (2MA)
82,270,000& * 14 82,270
J| 41,135
= 12,340
Al 28,795
ChE3tE JtHdgg X 37,660 34,724 2,936
J| 18,830
S 5,649
Al 13,181
307 glz2tol & 37,660 34,724 2,936
J| 18,830
< 5,649
Al 13,181
05 RIZHRI & 3 37,660 34,724 2,936
O UIRaINETH AL NJAY
37,660,000 * 14 37,660
J| 18,830
= 5,649
Al 13,181
AUgs @ JUME s S$RUSAHHA T3 217,344 210,696 6,648
J| 108,672
< 32,602
Al 76,070
307 glz2tol & 217,344 210,696 6,648
J| 108,672
< 32,602
Al 76,070
05 RIZHRIE 3 217,344 210,696 6,648




AN GEIEY
Hi: B SN L oA ST (MI=X/ES - HELHA)
S9l: AUNE - B2EIIE - o R0F =X A EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O U=IaIs L2uxs ML T&
217,344,000& * 14 217,344
J| 108,672
< 32,602
Al 76,070
Ch23ot= Atdll2tel X3 35,850 31,866 3,984
J| 17,925
< 5,377
Al 12,548
307 glz2tol & 35,850 31,866 3,984
J| 17,925
< 5,377
Al 12,548
05 RIZHRIE 3 35,850 31,866 3,984
O UE3aI=E Atdll2el XJAE
35,850,000& * 14 35,850
J| 17,925
< 5,377
Al 12,548
Z220/2X SBANMHA XHA 31,788 30,088 1,700
J| 15,894
< 4,768
Al 11,126
307 gl2tol & 31,788 30,088 1,700
J| 15,894
< 4,768
Al 11,126
05 RIZHRIE 3 31,788 30,088 1,700
O Ze0l2lXt S89 MElA X
31,788,000 * 14 31,788
J| 15,894
< 4,768
Al 11,126
0Isd JIsatd =4 33,943 30,108 3,835
J| 16,971
< 5,092
Al 11,880
307 gl2tol & 33,943 30,108 3,835
J| 16,971
< 5,092
Al 11,880
05 RIZIRI & 3 33,943 30,108 3,835
O U=2aIHE 01590 xS E =4
33,943,000 * 14 33,943
J| 16,971
< 5,092
Al 11,880
Z2S0/2X AS&2s XA 24,500 17,773 6,727




SAD SIS
Hi: B SN L oA ST (MI=X/ES - HELHA)
S9l: AUNE - B2EIIE - o R0F =X A EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 12,250
< 3,675
Al 8,575
307 i+l & 24,500 17,773 6,727
J| 12,250
< 3,675
Al 8,575
05 RIZt2E = 24,500 17,773 6,727
O ZE0IX H&ASXA
24,500,000& * 14 24,500
J| 12,250
< 3,675
Al 8,575
ROt 2E0IF0HA C0Is MY 5,940 3,000 2,940
J| 2,970
< 891
Al 2,079
307 glz2tol & 5,940 3,000 2,940
Il 2,970
S 891
Al 2,079
05 RIZHRI & 3 5,940 3,000 2,940
O #0tote Z2E0F=0Hd O0IS MG
5,940,000& * 14 5,940
J| 2,970
< 891
Al 2,079
0ot (elold 280l na 29 10,800 10,800 0
= 3,240
Al 7,560
307 g1zl & 10,800 10,800 0
S 3,240
Al 7,560
05 RIZHRIEF 3 10,800 10,800 0
O #0It= oeold t2stolaina =249
10,800,000& * 14 10,800
= 3,240
Al 7,560
ZE018HE 42E20] 24 26,208 26,208 0
< 7,862
Al 18,346
307 gl2tol & 26,208 26,208 0
< 7,862
Al 18,346
05 RIZIRIE 3 26,208 26,208 0
O ZE012014 4220 29
26,208,000& = 14 26,208
< 7,862




M 08I ED
HE: 2R OSNE L GERAY SH(MA=X/ES - IS0
Chel: A20HE - UR&IHE - 3= =X K& (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 18,346
ZE2012X 2HFASKE A 9,900 9,900 0
< 2,970
Al 6,930
301 LEHZ 9,900 9,900 0
< 2,970
Al 6,930
01 MI2EZE 6= 9,900 9,900 0
O Ze0l2t =H"HHSHE XY
300,000& = 33H 9,900
< 2,970
Al 6,930
ChEHE FHEu=s & X2 29 17,000 17,000 0
307 21201 A 17,000 17,000 0
05 BIZERIE 3 17,000 17,000 0
O U2sit=E HAgus @ A2 23 17,000
o U23ts FEgu=s XN
12,000,000& * 14 12,000
o URN2t 24 5,000,000& = 14 5,000
g t2ststn 249 32,440 32,440 0
307 21201 A 32,440 32,440 0
05 RIZt2IEt = 32,440 32,440 0
O &2 tU2sstn 2F  32,440,000& ~ 14 32,440
CEst=dAady 24 6,000 6,000 0
307 21201 A 6,000 6,000 0
05 BIZHRI & 3 6,000 6,000 0
O C2s0l=0SeAdEH 29 AHY
6,000,000& = 14 6,000
ChE3ots std)l N A ZE ™Y 2x 92,500 0 92,500
J| 46,250
= 13,875
Al 32,375
307 21201 A 92,500 0 92,500
J| 46,250
< 13,875
Al 32,375
05 BIZERIE 3 92,500 0 92,500
O UI3IE &dI| IUH4H AtslZEE2 oty 2
= 92,500,000& = 14 92,500
J| 46,250
< 13,875
Al 32,375
Ch23ts AlE 2 &Hl X 40,000 40,000 0
307 21201 A 40,000 40,000 0




AN GEIEY
Hi: B SN L oA ST (MI=X/ES - HELHA)
S9l: AUNE - B2EIIE - o R0F =X A EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 40,000 40,000 0
O U2 XE MHEX
10,000,000& * 104 + 42 0| 40,000
IUFUSEXNIMH 2 195,586 194,034 1,552
201 ¢er24| 2,000 2,000 0
01 At 22/l 2,000 2,000 0
O O==Al A28, U2aIHSF A= F2USE
NAEolsl 5o BHLY
100,000& 1098 * 23 2,000
202 044l 1,640 1,640 0
01 = LH o4 1l 1,640 1,640 0
O 220 U CI2501FUBAAHE LS
20,000& = 2 * 23 * 123 960
O 2=¢ & 20IFSHdAHH 2&H =
22X 9 85,000& = 29 « 43| 680
307 glz2tol & 191,946 190,394 1,552
02 QIZtE A AHEE 9,000 9,000 0
O H==0lF=QdE AFHEX
9,000,000& * 14l 9,000
05 RIZtE = 182,946 181,394 1,552
O WA= RSN 2 AEE
EN 182,945,960 * 14 182,946
Mol 2=2el stote A 13,000 13,000 0
307 glz2tol & 13,000 13,000 0
04 QIZFHALAIH 2 = 13,000 13,000 0
O MoA=Ql &totY AL
13,000,000& * 13l 13,000
O ==0l=CIME SOt A 7,000 7,000 0
307 gl2tol & 7,000 7,000 0
04 DIZHHALALSE E X 7,000 7,000 0
O W==0l=FQIHlE It A
7,000,000& = 13l 7,000
CEstrids LA 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
O UIRsgrEE7 A
8,000,000& = 13l 8,000
Had AW s4Hd(MasX/L0 - FHAH) 4,783,015 4,436,110 346,905
= 62,737
J| 857,042
< 421,874
Al 3,441,362




2N

MM BAW AH RE(AMSEK/o - HAH)
el AW 25 U AW 54 (29l & 2)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
dAad 25 & AW 4 4,783,015 4,436,110 346,905
= 62,737
J| 857,042
< 421,874
Al 3,441,362
dA4 o 172,279 173,942 A 1,663
< 24,814
Al 147,465
307 gl2tol & 172,279 167,282 4,997
< 24,814
Al 147,465
05 BIZHRI & 3 172,279 167,282 4,997
O &g o4gsidyg 29
82,714,000& * 1JH A 82,714
< 24,814
Al 57,900
O #ad &dg=sRdH 29 (AH)
89,565,000& * 1JH A 89,565
KNAAME HEALAEHSEXNZHAH 2= 98,650 97,470 1,180
9 49,325
Al 49,325
307 21201 A 98,650 97,470 1,180
J| 49,325
Al 49,325
05 BIZHRIE 3 98,650 97,470 1,180
O XA ExESSXEMA 2=
98,650,000& * 1JH A 98,650
Jl| 49,325
Al 49,325
FAUESENH T2 29 76,548 64,150 12,398
J| 38,274
Al 38,274
307 21201 A 76,548 64,150 12,398
J| 38,274
Al 38,274
05 RIZt2IEt = 76,548 64,150 12,398
O BAUSHR T2y 29
76,548,000 » 10H A 76,548
J| 38,274
Al 38,274
sty & HAE X 148,863 146,603 2,260
J| 89,135
< 10,763
Al 48,965
307 21201 A 127,336 125,993 1,343
J| 89,135
Al 38,201




2N

M BAU HE SH (SR /E0 - BAUH)
Celr BAW ©5 2 AW 84 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 127,336 125,993 1,343
O stw & Fa4d X 127,336
J| 89,135
Al 38,201
308 XX EHH SOl A 21,527 20,610 917
< 10,763
Al 10,764
13 2SOHetE & X 2 E AL I 21,527 20,610 917
O sl % HAW Ho4aY N
21,527,000 = 14 21,527
< 10,763
Al 10,764
stm 8 AW ZAH X 10,247 0 10,247
J| 4,611
< 1,025
Al 4,611
307 21201 A 10,247 0 10,247
J| 4,611
= 1,025
Al 4,611
11T MISAASEX 10,247 0 10,247
O stm % Had 2AH AN
10,247,000& * 14 10,247
J| 4,611
< 1,025
Al 4,611
0110t HetwsAIE S4H XA 29,700 26,722 2,978
< 8,910
Al 20,790
307 21201 A 29,700 26,722 2,978
< 8,910
Al 20,790
11T MISXASEX 29,700 26,722 2,978
O 0leoF HetwsAl4 S4H XI&E
29,700,000& * 14! 29,700
< 8,910
Al 20,790
HAH020Y NRA(2X) 24,000 24,000 0
=2 9,600
< 4,320
Al 10,080
307 glz2+ol & 24,000 24,000 0
= 9,600
< 4,320
Al 10,080
11T MISAASEX 24,000 24,000 0
O HAHOS0IY K| 24,000,008 * 14! 24,000
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e HAd
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Helr @AY
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=

M
2
==
£l
Ol
0y
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4,320
10,080

= Hn

02

EN

m

H=2g0tg K& (XHA) 35,000 35,000 0

307 21201 & 35,000 35,000 0

ARSI S XA E X 35,000 35,000 0

O #adosSg0tg X (KHA)
35,000,000& * 14 35,000

dadsotel XN& 7,500 7,500 0
3,000
1,350
3,150

Z W
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3,000
1,350
3,150

zZ W
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O #adsotel K& 1,250,000 » 6704 7,500
3,000

1,350
3,150

= N H

0kt
k-
i
10
%
o
0
oy
>
o
bl
0
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1,637

491
1,145

= Hn

307 21201 A 3,273 5,200 A~1,927
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491
1,145

= 0N W
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O HAURHSZ AL X
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491
1,145

= MW

FAERHSIZA Al HIX 29,000 29,000 0
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= M
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8,700
Al 20,300

2l
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O BadxdiegZddAl Adgeld B
29,000,000& = 1 * 10 29,000

8,700
Al 20,300

H
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AN GEIEY
HH: HAWE AN SH(MEZX/C0 - HAW)
ool AW 25 2 AW 8Y (29l & 2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 33,950
dad SEXE 14,881 12,142 2,739
J| 10,417
< 1,488
Al 2,976
301 LEMZ 14,881 12,142 2,739
J| 10,417
< 1,488
Al 2,976
01 MI2EZE 06z 14,881 12,142 2,739
O &3a4d S8 14,881,000& * 14 14,881
J| 10,417
< 1,488
Al 2,976
FadsEAIE X 639,913 639,913 0
307 glz2tol & 639,913 639,913 0
05 Rzt E = 639,913 639,913 0
O dadxd2 2% 399,593,000& * 1JH A 399,593
O ngdgsdz=oyd 24
119,160,000& * 1JH £ 119,160
O HEEALEEAE 2
121,160,000& * 1JH £ 121,160
HFAEX S A BIXI XI& 70,560 69,624 936
J| 35,280
Al 35,280
307 21201 A 70,560 69,624 936
J| 35,280
Al 35,280
05 RIZt2IEt = 70,560 69,624 936
O AUl XA HIXI
23,520,000 * 1002 23,520
J| 11,760
Al 11,760
O DIBEAER32AE XIZ A HEIXI
23,520,000 * 10024 23,520
J| 11,760
Al 11,760
O HSEAYU232AE XIZ A HiIXI
23,520,000 * 10024 23,520
J| 11,760
Al 11,760
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